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Problem 1. (24 points) Give the final products for the following reactions. If no reaction occurs, please state so.
Circle your answers. Show the stereochemistry if it is important.
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Problem 2, (6 points) Show the mechanism for the following reaction.
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Problem 3. {5 points) Using the Robinson arnulation, what two molecuies would you use to synthesize the
following compound. Circle your answers.
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Problem 4. (5 points) Show how you would synthesize the Wittig reagent starting with triphenylphosphine and
methanol as you source of carbon, using any available reagents. -
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Problem 5 (28 points) Show how you would carry out the following transformations with the given starting
materials and any necessary organic or inorganic reagents. You do not need to show the synthesis of the reagents.

For each step in the reaction sequence show the product for each reaction.
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Problem 6 (32 points) Show how you would carry out the following transformations with the given starting
materials and any necessary organic or inorganic reagents. You do not need to show the synthesis of the reagents.
For each step in the reaction sequence show the product for each reaction. O
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